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Because they break' — DNWwnT 2WN

Overview

Our mwn taught that one must distance 2°¥20 (stones) from his neighbor’s wall,
presumably because they emit heat. The X713 asked why does the 7wn in naw naon,
not include o¥90 as one of the items in which one is not permitted to be y0.”
Initially no1 27 answered because it is not usual to be 1mun in °v70. However »aX
asked that it is also unusual to be 77207 in 7% °1°3 and nevertheless the 71W» mentions
them. X327 answered that it is not usual to be 0°¥202 11N because they are *>nwn.

- 112 1PPVAY 7T PR APTPN PIAYNT DI0NDN U
“''w [here] explained that *>nw»n means that since the 0°v70 break the pots it is
not customary to be »wu» in them.

Mmoo asks:

- *55y5 759975 9128 1933 PRVNY 797 $9Y SWPIN NN ININN ON)
And if you will say, the question still remains, ‘and is it the custom to be »u»
in %% 919»°, as the X2 asked previously?!

mooIn answers by differentiating between the two 'Pnun? 777 PR
- YOV PNRVAY T9T PRT 993D S¥a NN DIYDT 9 YN

And one can say the previously 101’ 27 wanted to say that 2°po3 12w 777 PN -
=912 12320 D¥9Y 19 %9 DY NI DPNN 1PN DIYHDN 1221 RYY JANNY 2aY

Because the heat escapes from between the stones, so the heat does not last,

therefore it is 777 X generally, but nevertheless sometimes people are 32 in
oo -

- 5112 1931290 ©Y¥aY1 DIYM 1Y INT V0K KM P9V 599 391Y
Therefore 21X correctly challenged this answer from 92%x 513 which are taught,

" This is according to *"w79. maown will give us other interpretations.
%91 10 ,;manwn is the process of completely wrapping foods for naw in some material so they retain their warmth.
One is permitted to be Pnvn in something which does not add heat (727 7°01 1°X) but not in something which is
5277 9°0n.
3 737 7"72. The n"an M amends this to read 1M2wnT 82 07WNP (instead of PIawnT 07WNPI). Presumably 11awn
here may (also) mean that they damage the pots (making dents and scratches, etc.).
4 See “Overview’. Previously 701 27 answered that it is not usual to be 1mvn in 0°¥90, so ak challenged and said,
‘but it is not the 777 to be 7vn in 71X >3 and nevertheless it is mentioned’. X217 now answered that since 2°v90 are
"2nwn, they are not mentioned, presumably because it is not the 777, but that answer was already refuted!
> According to *»ax the two, 2¥70 and 7% *P) are similar in that generally we are not 02 ya10, but occasionally we
are. Therefore there is a proper challenge why mention 1% °r3 but not 2°y70.
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since occasionally we are 32 in ¥ >r3, even though generally we are not 073 7210 -
- 795190 1I2UNY 395 11 Y99 1NVHY 79T PNT IIND NaD YN

However here X271 is saying that it is not the custom at all to be °»u» with

0°v%0 because they break the pots (if you are pnvn with them) -
- 611”)5'\’)35 YN XY Y59 NN NYAY NYT NNDMIY HINY

So since it is something completely uncommon the Xi1n was not concerned to
teach it -

mooin offers an alternate approach:
- 71112 PNPVNY MY HUD NN RNIY RDT 11997 W9 W Ny

And additionally one can explain that since 0°v502 n1n07 is totally uncommon,

it is permitted to be y°2uR in 2°v%o -
- %1329 173 998 NY NHPOYW K97 NNYI0AT

For the 3129 did not make an injunction in something which is totally

uncommon -
- M550 19w Y1 NE YRAY DY 1PRONY 1927 1IRY 1Y 1131 19

And so too is our custom that we regularly are 1»u» in the type of 2°¥%® which
emit fire which are called ‘Kayloosh’.

nooIN asks:
- 179N 11\’)5 TV NN OIPN Y944 “vwnpa NYPHIY NN NOVYP OIPNn Yo YaN

However in any event there remains the difficulty which "2+ asked, that

everywhere else the word 7w is an expression of rust (not breaking) -
- 2590 PPV (8,13 97 x>y xa2) NN TN 13D

Like in mx x» 9K p0 where it states ‘it is exceedingly rusty’ -
- Byan y1ay XY 590UNT 19957 (3,37 91 maw) NN 79929

And in 713577 P99 the X773 states since they will rust they do not do it -

® According to this answer it is forbidden to be 2°¥%02 Pnwn; however the mwn did not teach it since it is 993 oW XY,
7 According to this answer (as opposed to the previous answer) one is permitted to be 2°¥%02 7nun (see footnote # 6).
8 The reason one may not be 9277 §°01177 1272 PR is on account of a 7713 that he may be y»72 1mvn (in ashes which
still may have some fire in them and he may rake the ashes to reignite the fire which is 77107 12 70K). However
since it is unusual to be 0°¥%02 1vA (so even though it is 7277 7°01) the 77°13 does not apply to it.
’ We need to assume that at the time when they made the 771, their (clay) pots in those day were damaged or
broken by the o°v%0, so therefore the 0°¥70 were not included in the 77°13 (since it is *">w X?), so nowadays even
though our (metal) pots can withstand the 0°¥%0, the 77°13 never applied to o°v20. See ‘Thinking it over’.
' These may be flint stones (or perhaps coal?).
W93 7.
"2 The X1 there is saying that since it is so rusty it cannot belong any more to the original owner.
"> We cannot say that we find a X177 95 132 in the 1own, because in the 19w they would dig a small hole to hide their
needles, because since they will rust (in the hole) they will not do it.
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— NYIND 1LY 1PoNUN DMVAY 917 HIONRI ON (3,0 91 NIYNT NP 9929
And in the first 9o of n%yn ndon it states, if you see a generation that the

heavens appear rusty as the color of copper. In any event we see that Tnw means rust,
why here is it used to mean breaking?!

Mo0IN answers:
- ¥9annn 95PN 1YY 52T SaNUNT NN 1IYa 0N 13529 YION)

And the n''1 explains ">nw? in a different manner, that their heat (of the o°v0)
spoils the food (therefore they are not 2°v702 10n) —

mooin offers an alternate explanation of ¥27:
= NYNT OIYN lsﬂp’hﬂﬂb 9INRY NNT INIIN 13939 Y10 NN PNYY 139299

And the >'' prefers the n''v '>» that X127 was explaining, this which our mwn

states that we must distance the 2°v>0 from the 701> is because >nw»7T; meaning -
- DOPIT 223 19PY 1I9IINTI NINSH 19Y PIYM NN DIINNY YIND NN PPYIIY

That the 2°v70 ruin the land and corrode it (like rust corrodes) and it causes to

loosen the land as the X3 states later regarding seeds -
=192 193210 2N 01V P20 PNRT DN OIVN XD

But not because of any heat. For 0°v70 do not exude any heat, so therefore one
may be 32 in 0°y>0, therefore the mwn there (by 7mvi) does not mention 2°v90 —

Moo reconciles the 19 even according to our X071
- ann 1Y NP RYT NNYV 1390 DIYID Y097 D990 297 179N

And even according to the texts that read; ‘this is the reason why the 71wn does
not mention 2°y»o there’ —

mooIn responds:
= NI RNYVT DIYVN DNN INY NP R 99NDT 9INP Y917 WI9Y v

It can be explained that this is what X217 is saying, that therefore the 71wn there

' Just as rust is the decomposition and spoilage of the metal, similarly here the 2°v90 spoil the food. When the X723
states 717P% 72 *onwn7 it does not mean the pot per se, but rather the food inside the pot. See ox 7"7 X, n°1wn 'oIn.
' Until now we understood that X271 was explaining why we are not 2°y>02 1570 because *>nwnT; however the n'"2
learns that 21 is giving a different explanation of our mwn, why we must distance the 2°v70 from the 7n13.
According to the 1" the X073 in our X713 should read, *>nwnT DWwn XYY 1177 fa)virle) (not >nwnT DWwn RHYY 1177 ant
77P% AR). X2 is discussing our 73w, not the case of 1mw:. See (however) later in this nvoIN.
'® See footnote # 15.
' This Xo7"x seem to contradict the "5 who maintains that X231 is explaining why our 73w» states that 2°v90 need to
be distanced (because *2nwn7T); however from this X072 it seems clear that X127 is explaining why the other 71wn (in
naw) does not mention 2°V70.

3

TosfosInEnglish.com



o2wn "7 ' R,p 2" 702

does not mention 2°v>0 is because of the reason given here, namely -
- 9NYNT DIVN KYN 2N DIVN XY 0PIN91Y PPI8Y

That it is necessary to distance 2°¥0, not because of 2277, but rather because
SDNWAT (it corrodes) therefore it is NI to be 7°7vM in them —

moon offers support to the 7"79:
- PN DYYOAY PN onn 190957 Pinburesn ARG KoaN 29791 13939 290

And %'"177 brought proof from the “»%wy> 750 to the "o, for we read,

‘there it was stated in one place because the 2°¥%% heat, therefore it must be
distanced from the 2> -
- PRINN DIYION PRY NN NN

And here concerning 7inv;7 it was stated that the 2°¥%o do nor heat up, so it is
amn to be Prvn in 2°v90. These two statements contradict each other -

— 1NN DOYODN PPN JNII NI YD) 2349 N
»''9 answered both here (in 2"2) and there (by n1nv7) the 2°¥%0 do not heat up

Therefore we understand why 772 P30, however why are we Pp°nn; it cannot be because of 2277 -
$9M9N YIN 1PPDN NINH 99y DIVIYY 2919 NON

But rather it is because they loosen the earth and ruin the ground of the wall.

Summary
People are never 2°v202 1210 since they break (*>nwn7) the pots. Either it is 710K

2°v502 121>, but the m1wn does not mention it since it is 7°2W XY, or since it is X?
oW it is D°¥902 1nua? nn. Alternately (n") the 2°¥90 ruin the food in the pots
(like rust [>>nwn7] ruins the metal). Finally (7"71 °"9), X217 is explaining our mwn
that 0°¥%0 must be distanced because they ruin the earth, but no heat (and =%
o°vo02 1RunR).

Thinking it over
How are we to understand that on one hand n»oIn writes that it is 993 7077 777 PR

0°yh01 since they break the pots, and on the other hand nowadays we are 120
0°y502; but how will the 2°¥%0 not break the pots?!*

B x"a" 2"
19 See 0" who reverses the R07°3; the first time it should state '®X577', and the next time 'ani'.
% The n"a7 M amends this to read D°Y»07w %197 MN°K (instead of DV201Ww MN°R)
2 See footnote # 19.
22 See footnote # 9 and 7wn NI
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